I.CHOOSE THE RIGHT ANSWER BY CROSS A,B.C or D!

1. Theresultof67x 1281s...

A.8546 B. 8556 C.8566 D.8576
2. Theresultof 239 x 58is...
A 12862 B.12962 C.13862 D.13762
3. 51x..=48096.The missimgnumberis_..
A9 B. %4 C.56 D33
4. Theresult of 36 x 20001s....
A.72000 B.72500 C.73000 D. 82000
5. Theresult of 28000:40 is. ..
A7 B.70 C.700 D.7000
6.1.ook at the number.23 x 600.
Itmeans (,.x 6) x 100. The missing number is...
A02 B2 c23 D230
1.The result of 8000020 is...
A040 B.40 C.400 D 4000 =
8. There are 16 books on shelf. 320 shelf of books are put m the library, How many books are there altogether?
A20 B.200 Cs512 D.5120
9. M Andrew buys 12 pens for a total cost of §72000. What is the cost of 1 pen?
A 6000 B. 600 C.60 D.060
10, Theteacher has 4 boxes. Every box, there are 15 erasers .The eraser are taken to pupils.esch pupils can hold 10 erasers. How many pupil are

neededto hold the pen?
A600 B.60
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